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Question Number : 1 Question Id : 51714413241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0
The rote memorization of facts and bites of information is characteristic of which level of

teaching:
DrTd TRrei m@in@éﬁ S o S 98 o5l

Options :

Memory level of Teaching
P %&35 ?mae'i%
1.¢

Understanding level of teaching
A5 @g{nﬁb é'i?m:fri%

Reflective Level
|H&8o ?&}38

Dynamic Level
BoirED $3

Question Number : 2 Question Id : 51714413242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



This method of learning combines online learning with face to face learning?
&9 @ﬂﬁ%}@, BR8N ©ErEgIE |, @%ﬁmgﬁ D0 sotnod

Options:
Reflective
) (&80
1. %
Blended
Sna500o
2. ¥ =
Case Study
i e M e(ery a8
L. TGOS et
Simulation
08t
4, %

Question Number : 3 Question Id : 51714413243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

This is a diagram for representing tasks, works, concept or items linked to and
arranged around a "Central concepts or subject”
& P H60, © BolBahgrdden, Dchos® ¥0H Swr Hhipoe &06 sedgan, R
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Options:
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Question Number : 4 Question Id : 51714413244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In evaluation this term is applied to the expression of opinion or judgement
regarding some situation, object or character and is quantified

&l ‘.55?@39’3, D) MHessned 55%053&36’5 e @d}g}@a, é&mé@éom Bena)id,
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Options :

Cumulative record
HodE E:st@

Rating

Checklist
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Observation
584



Question Number : 5 Question Id : 51714413245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The organization established in India to conduct Computer Based Testing (CBT)
for exams like UGC NET, NEET, CPAT, efc is

UGC NET, NEET, CPAT SntSerd Bodrob espedd $880 Stess Fhodads o3

Options:

National Testing Agency
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Mational Exam Board

4% JADS &-rg.ﬁ) 23’565

Question Number : 6 Question Id : 51714413246 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

This philosophy tends to believe that logic and reason are the means of acquiring
knowledge
Egmﬁ& HoarHohed S8, Pt SHIBIR FPOoDIO



Options :

Experiment
Eslonvlataiy

Rationalism
v et Em

Observation
u B8l

Theory
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Question Number : 7 Question Id : 51714413247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

This type of research involves collecting and analysing numerical data.
& 85 H08°RE° Sogrg Berodo MEBoSEO BBt ghosto atiheEod.

Options :

Case Study
‘sﬁotﬁ% H88es

1. %

Cluantitative
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2.9 ’

Focus Group
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Hypothesis testing

4 % 208enwr $5§

Question Number : 8 Question Id : 51714413248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

This is a summated five point rating scale
ab Do) b aronoty DHOMH wpen
Options :

Likert Scale

Y
1\/@%5&:' oJC0

Stapel Scale
%@5 ﬁéﬁ}]

Thurstone Scale
3% B5PS Ry

Guttman Scale
HeSsns f}é@

Question Number : 9 Question Id : 51714413249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Principles and guidelines that help us to uphold the things we value are known as
soRo Denadid é@goé é@@@éﬁ ertahth drlEren amgcﬁfﬁ%s“ﬁn

Options :

Etiquettes
Sooegtien

Manners
e TR O D]

Ethics
3 Heben

Morale

Question Number : 10 Question Id : 51714413250 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Which is the theory that states all knowledge is based on experience derived from
the senses?

O, &;ﬁo@dﬂP@ Sod Brobi edgrdo el o8l aﬁ}; ?’:rm;oéo 08?
Options :

Rationalism

N

Research Paradigm
5888 ©E s



Empiricism

OB B30

3. v
Metaphysics

SoereeB
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Sub-Section Number : 2
Sub-Section Id : 517144540
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 51714413251 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval

to replay(In Seconds) : 0 Allow Volume Control : No
Question Numbers : (11 to 15)

Question Label : Comprehension



Note: Answer the questions 11-15 by reading the following passage:

HaRE: (Both sl Ssrardo egrdore Q. 11806 Q. 15 o Sirgraron
Bgenleled

It was about this time | conceived the bold and arduous project of arriving at moral
perfection. Wished to live without committing any fault at anytime; | would conquer all
that either natural inclination, custom, or company might lead me into. As | knew, or
thought | knew, what was right and wrong, | did not see why | might not always do the
one and avoid the other. But | soon found | had undertaken a task of more difficulty than
| had imagined.Habit took the advantage of inattention; inclination was sometimes too
strong for reason. | concluded, at length, that the mere speculative conviction that it was
our interest to be completely virtuous was not sufficient to prevent our slipping; and that
the contrary habits must be broken, and good ones acquired and established, before we
can have any dependence on a steady, uniform rectitude of conduct.
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Sub questions

Question Number : 11 Question Id : 51714413252 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The journey towards becoming morally excellent is highly
RBEOTT (Fd OO S0 [DOSTPLRO Trer

Options :
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smooth.
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simple
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demanding
4 RSO

Question Number : 12 Question Id : 51714413253 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The phrase: “inclination was sometimes too strong for reason” means
R0, 08 s3SI S0 VORI ©F HA0VE e9§o

Options :

The author could resist his habits
S0 0 @@ DABOTIHIOMTE

1. %
The author moved towards his habits
5 BL500€5 S 9T Fo) 0A FF YR



The author listened to his reason
GLI0NES ) ST A ade”) C

The author was motivated not to get back to his habits

4 x SR0NES S5 @D e300 FOSE0TE® 000D

Question Number : 13 Question Id : 51714413254 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

According to the author, one must to prevent us from slipping
back to old habits.

W W & W a ==
GrIones (S0, D0 DY ares OTEY 2DF0T GOFTOOR)

Options :

have character
Des3ded somEd)

1. &
be virtuous
- HeTen God)
develop good habits
3 ¢ DO BOITLD 2DOFOOH0TNT 7O

avoid bad company
T AT Q) Aerdowrd)



Question Number : 14 Question Id : 51714413255 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The author realized that habits keep coming back because of
& OO o) @eare)) @b dear) oA drdane |Haromrdd

]

Options :

inattention
1.4 o FQ

temptation
]
5 % 508
attraction
2 es8ded
liking
4 % 9RO

Question Number : 15 Question Id : 51714413256 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The word ‘rectitude’ means
"8 DD 1565 0" @R DIVE @90

Options :



moral correctness
1o DEVIOE EPQS

firmly held belief
NN 80

2. %

spiritual elevation

esgsesls ad) €550
3 % 3 5

charity
4 % zaredg)ed L0
Sub-Section Number : 3
Sub-Section Id : 517144541
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 16 Question Id : 51714413257 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

\/oice is adjusting the pitch or tone of your voice to help your listeners to
clearly hear and understand your speech.

) (DOOTPR), D0 o (Feden @80 BFTIERE D 550 B oD
FAIREN Baird)

Options :

manipulation
1. 8 T



modulation
IR VRTE TOVIDY

2.
variation
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3 ®
deviation
4 % A58 0

Question Number : 17 Question Id : 51714413258 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Rapport development is a communication skill that focuses on building and
maintaining __through effective communication.

LTI @230 R DPI0STN a?éjaﬁgééésa LT 0O
HBS0SOMT DEITFOTIB0D R APOOT 279a555% 86w
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Options :

Human relationships

odT00) COI0TIPED
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Membership
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Individuality
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Independence
0 55050

Question Number : 18 Question Id : 51714413259 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Business fransactions, salary benefits and partnership deals
happen through proper__skills.

T3PS CPTBAED, 25650 SHOA |HATFETEN HOOD 21T £ 2,8)0Ten
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Options :

crises management
% V052 QS5

time management
00 O faTeD

negotiation

Interpersonal
0550 QDN E NOVOTTO QO LoD

Question Number : 19 Question Id : 51714413260 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Being in communication helps in people being acknowledge and appreciated.

VIR ERENO) TP GO0 SO (236D @0RSO0TI0 HOOW
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Options :

Courageous
e eh0

Courteous
5 SNTEO

Aggressive
CSrSach

Passive
Q| 21, Oireed

Question Number : 20 Question Id : 51714413261 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

To establish trust among teammates, one needs to be

Vi Wep M M e W b W W e Ry T A A TR e A
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Options:



Generous
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Question Number : 21 Question Id : 51714413262 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
=100 =3

Options :

68
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Question Number : 22 Question Id : 51714413263 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Two trains are travelling in opposite directions at speeds of 72km/hr and 54 km/hr
respectively. They take 10 seconds to cross each other. If the two trains travelled in the
same directions, then a passenger sitting in the faster train would have crossed the other
train in 24 seconds. The length of the trains, in metres are

Bocd B SHIT 7280 Hoow 54 o Fod S0 IS
DATENT) 0. @9 2.5 TS 10 ED 08, Both TW 2.3
B3 |HOTEIR, INMH0SHS BNS PN (DTN 24 VEIS” By
BN PP, DY arse) MOSS  , &0&n0d

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

300, 50
250, 100
150, 200

3.



230, 120

Question Number : 23 Question Id : 51714413264 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Gopi invested a sum of Rs. 42,500 at a certain rate of simple interest. He finds that the
interest payable to him by the bank increases by Rs. 55,250 when the rate of simple
interest is increased by 10 percentage points. Find the period of investment.

%) 6r.42,500 Sodinid B0 rrrtm 56 D Déyabr et Frrdn S48
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Options :
1 year

1% 10008300
22 years

5 % 22 0063e5 300000
13 years

3 ¢ 13 00630000

can not bhe determined
SOV AT BN

Question Number : 24 Question Id : 51714413265 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Saroja has successfully divided a number N, 3 times by the least number X which
when divided by 6, 5, 4 leaves reminders of 1, 2 and 3 respectively. The reminder
when the same number is divided by 49 is

082 N 093 daschsosorr 3 7rd 505 doms X & arRomrd, A
6.5, 48 2PN AT 1, 2 HOOM 3 T (H0EE) & ST OW. e
DO 496 2RO FokedD

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :
1 12
7 15
3 14

canot be determined
ANV ATN [PV

Question Number : 25 Question Id : 51714413266 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
The standard deviation of the observations 8,12, 4 16, 20, 28, 32, 24, 36, 44, and
40 is
8,12, 4 16, 20, 28, 32, 24, 36, 44 OO0 40 HOTOIO OVWEIREINY

Jderdsm
Options:

V80
1. #

V40
2. %
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Question Number : 26 Question Id : 51714413267 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
In a certain language if BRIEF is coded as 17 and CLOCK is coded as 29, then the code for TSSET in that
language is
2 BB g6’ BRIEF i 17, CLOCK & 29re 8% dahalis i
otepad® TSSET & &6

Options :
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37
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47
3. =

34
4. %

Question Number : 27 Question Id : 51714413268 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The odd one among the following numbers is
% (Bod 78BS HBHEaD 08y

Options :

65
1. %

91
2. %

104



142

Question Number : 28 Question Id : 51714413269 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Statements: Some rings are circles
No circle is a square
(DDSeen 1 B Heociren HEmen

o o SHd(Ho =
Conclusions: |. No ring is a Square

Il. All rings are squares
swhod | o decdho SEBHo st

ILeody Herciren S&d|Tren
Options:

| is true and |l is false
I a;@ snBaiw I é@

Both | and |l are true

Botd | s08cw Il en a‘f.glj
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| is false and Il is false

- | 853 sobato I 2.

Both | and |l are false
Goth | 508w Il en &5
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Question Number : 29 Question Id : 51714413270 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

In the following missing group of letters
% (Bod A& &HodH ®Eore DRPsTo

JUMP: MWPR: HUNT:

Options:

KwaQv
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Question Number : 30 Question Id : 51714413271 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Which of the following diagrams represents the relation among Musicians,
Instrumentalist and Violinists ?
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Options :
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Sub-Section Number : 4
Sub-Section Id : 517144542
Question Shuffling Allowed : No

Is Section Default? : null



Question Id : 51714413272 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval

to replay(In Seconds) : 0 Allow Volume Control : No
Question Numbers : (31 to 35)
Question Label : Comprehension

Note: Answer the questions 31 to 35 based on the data provided below.
KRE: B ©0BODS SFoFsn errdorr 31 Hod 35 1) 0% JSrTTen (Fohod.

The following table represents public sector outlay ( in percentage)

08 HEE (H2hed 3 S0k H305rR) ArDN08 (TSoe)

SNo Plan Agriculture | Energy | Industry | Others
|DEP D Sgrdio | 48 | DO | 265

1 | Fourth Plan =& (694 20 25 10 45

2 Fifth Plan 5085 e @ 20 20 25 38

3 Sixth Plan &6 (He@d 25 30 15 30

4 | Seventh Plan 2)¢8sS |ser®% 25 30 12 33

Sub questions

Question Number : 31 Question Id : 51714413273 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

During the 5% plan 65% of the amount spent in the Agriculture sector was through private
investment, If the private investment was 5.200 crores. The total outlay of the 5% plan is

ril s ool oy of
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Public sector outlay was 40,000 cr in the 5% plan and around 1 lakh er in the 62 plan. The

percentage increase in the amount spent towards Energy sector from the 5% plan to 6 plan is

W, of al o 4 G20 o of 7 o, = £ig of

D206 5 B0 S50%0 55 (HEFDEES’ 40,000 € DA 65 (HEFVIS Daird 1 ©F §ew. 58
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In 7% plan, the amount spent towards industry was 26,400 cr. The amount spent towards
transport and communication, if it was 40% of others, 15

, - R o i { fan ol - T £,
7o |DEPRES H0Hsh FH0 FD0DS Lo 26400 5LV darer DO S0rATAS §R00

D) TR 00, 88 2O 40% oNS
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Out of the four sectors given. how many sectors showed a consistent trend ( increase or

decrease) in the allocation between the 4 plan and seventh plan.
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During the 4% plan and 7® plan, the total public sector outlay was 16.000 cr and 2.2 Lakh cr
respectively. The percentage increase i deployment of funds was the maximum for which of

the following sectors from the 4 plan to seventh plan?

W, o o, a f { : - < ; I o~
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2 SO0
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38

Industry

b7yt
20
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Both Agriculture and Industry
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A Byte is made up of

DéY edme
Options :

4 bits

8 bits

12 bits

16 bits
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o B3H5H 0H @dHme
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Fasla) E% 563053: &5 eﬁoﬁéﬁ
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rab 85 hEe5 &“Oﬁé&?
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A web based graphical environment on computer networks 1s
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World Width Web
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World Wide Webb
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World Wide Web
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E- Pathshala is the platform of which organisation?
a- rEFes” BIhS Soged® B8 68
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KVS
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The purpose of ICT use in educationisto .........

33655@5 ood ans) {—:@%’m
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Attract students
1 % Do e88odhe

Make teaching interesting

- 555 es58880rre Sahnes

Optimize learning outcomes

3 v ©gg0 Pderod ehirodthhe

Promote technology culture in teaching
4 x DBSE J0888 SoxiydA @BienirosHits
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Which of the following is/are the UNDP Sustainable Development Goals?
&% (Bod 7280 DB/ ?gtﬂ @@é@% OFED
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Quality education

_— rijeaﬂééé DT
Gender equalities
> % Don f}&’)}%é&b’m
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5:‘.-553}"53“5&5 6'3655

Question Number : 42 Question Id : 51714413284 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

One of the anthropogenic sources of gaseous pollutants chlorofluorocarbons
(CFCs)inairis ...........

POEP 2. S ety sratueents SERE T CFCs) @) 556

Options :
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1630060 =B|EaD
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oBde HYEH

Foam industry
ghan DB\
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Global warming can be controlled by ..
[DHosargone %aé}gam & Dorre Elofmo@oiﬁézﬁmén
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Increasing deforestation, reducing efficiency of energy usage
éd) miﬂ%ﬂc‘() 20héy e, S8 ﬁﬂ@ﬁﬁ%ﬂé}ﬁggﬁ] éﬁoiﬁm CIoqo°

1. %
Increasing deforestation, slowing down the growth of human population
9635) ?&fﬂ]ﬁéﬂ?ﬁ 20HE TP, DR cﬂsﬂnne,jna‘)e‘:@ e’_éfn‘.oéaé.} ALNey
2. ®
Reducing deforestation, increasing the use of fossil fuel
©9638) 3361“@@?6 éﬁoﬁjfﬂ oeoe, Beres BOGH0 Dohey Tegoe
3, % |
Reducing deforestation, cutting down the use of fossil fuel
eéd) K}&“@/@Eﬁ ejﬁ@zﬁjé} oeqoe, Bere m0G00 PiEo EﬁﬁO{ﬁJE‘J Ao
4.

Question Number : 44 Question Id : 51714413286 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No



Correct Marks : 2 Wrong Marks : 0

The main composition of biogas is ...........
DAFEEgR Sngy S0

Options :
Methane
- P

Carbon dioxide

SYREATEHE
2. %
Nitrogen
S
3. %
Hydrogen
TEe
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The United Nations Framework Convention on Climate Change is also
known as......

et S ENIBE SA9) 534S S % Do Erme @otrd
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Options :

Kyoto Protocol
2¢° @Eeieed

Vienna Convention

, E"Dciﬁja"g é55&”)015
Earth Summit
ae S5
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None of these
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Which of the following is/are writings of Chanakya?
& BIHD S HD orealgd) Bden
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Arthashastra
@tiangé:o
[ ]

Ashtadhayayi
@%{;533@5}3

Rajatarangini
oresesbont

All of the above
?‘Eéﬁcﬁj
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The First Commission for Higher Education in post-independence period in India was
headed by..................
%ﬁﬁeﬁﬁ@{é{ﬁgo s seof Do SING RAEN AT Sngrs(rseB

Options :

Maulana Abdul Kalam Azad
SPeree @3}55 Bersn weed

1. %

S. Radhakrishnan
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D.S. Kothari

;. x & B Fobd

Mone of the above
2 PO 50
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Which is the most appropriate method to teach vocational skills to students?
&mﬂg%}ﬂeﬁn ée‘}g 28 Edeginotn 580Ht 06 B DS :;’tha

Options :

Role play
| 863

Discussion
&:’3&5’15

Experimentation
2B} 285085

Demonstration
B5eS @gﬁE
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National Education Policy 2020 recommends ..............
2805 Doy Derden 2020 HarsH DaHse
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Multilingualism

| @ 25T02T°5), GPRE0
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08 el Ve
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Standardization of curriculum
y FOS0E [FEFSESH
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International Environmental Education Programme (IEEP) has been launched by .........
eodpBoh St Duvy s (IEEP) [S38 2650
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Given the values of Change in K/L = 0.5, K/L is=1, Change in MRTSk = 0.25 and
Elasticity of factor substitution = 1. What is the value of MRTS «?
KIL & sty Densd = 0.5, KILis=1, MRTS x &° &ty = 0.25 50Baty s (SBED

améﬁﬁﬁééo =1, MRTSx Dens ao# ?
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1/4

1/2

Question Number : 52 Question Id : 51714413294 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Which of the following is NOT a plant size in relation to Sylos-Labini model of limit
price?

Bob 88" 26 HE'S - =B $6 &Y SxrTeH Bowohod a¥ Bo (plant) HBKEeo
tH?

Options :

1000 units
1 % 1000 clardén

5000 units
o000 chrdén

8000 units

8000 crdén
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100 units
100 glaredén
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Given the saving function S=-200 +0.25Y, at what level of income (Y), the saving
curve intersect the X axis?
adwbs Brthi deo S=-200 +0.25Y, o eorad %;o:o (Y) 38 eehsy O X

O poliioh?
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Rs 400
| % 400 Seardhen



Rs 1200
1200 Brarchen

Rs 600
3. % 600 &rarchen

Rs 800
800 Brarchen
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According to the loanable funds theory of interest rate, there is an inverse
relationship between the rate of interest and:
awed) e $E0 drpodo [Heto $6T% HdAD (Bob O T8 iy D&%

moaotio Gotnob.

Options :

Disinvestment
T‘:'aé%gm& GaNosrten

Hoarding !
NG 2Nt Dexenre GochE RS0
Saving
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Bank credit
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There are A and B events which are independent. The probabilities of events A and
B can happen are 0.05 and 0.02 respectively. What is the probability of
simultaneous occurrence of A and B events?

A 598ain B Both @o[Bhs woden. Addin B soden BogiDottrdd (happen )

Ko SHograp®  Stdre 0.05 HbBaiw 0.02. A Hbdin B (events ) wozren 2,870

SodinodtrRd Ke togragd o ?
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|« 0.001
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0.010

Question Number : 56 Question Id : 51714413298 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No



Correct Marks : 2 Wrong Marks : 0

Which of the following test of goodness of fit is NOT based on the assumption that
the sample means are normally distributed?
8ob e $0508” Db HBSS ditnen Fdedgore( normally) Hobd Dadadaron

O3 [PHchod errsHith ?
Options :

Parametric test
1w argoeanl@E 508

Z test
Z - aﬁég

Chi- square test
8 - Jpb 908

e

Question Number : 57 Question Id : 51714413299 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The fourth derivative of the function X= 3y6+ 4y + 5 is:
@dhao X= 3y + 4y + 5 GnE) wren esseso ( derivative) |

Options :

. = 2160y
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An equation involving derivative/s of the dependent variable with respect to
independent variable is called as:
Suol# Serosed® Honobod) el Soro¥ wdkomedt Eré éot ﬁi‘oﬁfﬁe&m&)& 9 %5880

o Hevarh?
Options :

Integral equation
1 % =0B(AS HDEBemo

Simultaneous equation
2HSHIAHS  HEpSTeao

Differential equation
3 ﬁﬁﬁg\l{iﬁjﬁ HanESeo

Difference equation
;3553 HEnESeo
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Which of the following model of international trade has taken into account three
factor, two goods, two countries along with neo-classical production function?
\Bob B 5 @oét{;@{}ﬁa 58 Selorae iy arosimeah &8 oo Zrtn fmth seseen,

Both S:hHen, Toth BEreid H6MHneE’E EhnHos?
Options:

Specific factors model

1. ¢ lzéégﬁ (specific) s=fzrey Ssorae

Effective factors model
ﬁﬂﬁaﬁ ( effective) s=tfs=e S5orar
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Relative factors model
3 % FoE sire S
Common factors model
4 % et 5ehERe M
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The 12" Ministerial conference of WTO was held from:
WTO @ng) 128 solghe ﬁgo:a Srado a-:lgjn}ﬁ S0l &Jaﬂn}ﬁ S6% =26hoH?
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2my 12 5ol 19 =2=5 2021 55%
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4 % 12 &aﬁ"’_?; ol 16 &%ﬁ% 2023 585
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In relation to public goods, free rider problem arises when every individual in the
society would like to enjoy the benefit of a commodity:
Saimeod® (5858 [Bod @& 300 Tobbo woe SEE SiHe Hod (Hareso

Erowreiigod (BBED iy 88800 ?
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without paying the price

58 BhoSEDE
1.¢



by paying more and consuming more
288 SDobo B JE)S DIDrAoLEIo

by strictly sharing the cost
mf&&ﬁiom Eﬂé‘dﬂﬁﬁ& Fhoddio

By paying more and consuming less
2838 8000 Hbcin #5)s AT rAoDL0
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In which one of the following taxes the impact and incidence will be on different
persons?
1Bob & c‘;;}éﬁ oo B Ging) wdodf grdo SHbdn wosihgrto iﬂéﬁ) HHon Gotran ?

Options :

Property tax

B ol
esn) 33830

Income tax
srEdho 53“63&

Wealth tax
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Value acdded tax
Denwd shbod) D&y
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The hypothetical currency deposit ratio is 0.40 and the reserve deposit ratio is 0.30.
The value of money multiplier is:
&g ¥00) Garal 28 0.40 Hboh baby Sar2d 2 0.30. 58 Hwto

Dend dod ?

Options:

. % 0.50
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As per the proposals of the working group on Money Supply, Analytics and
Methodology of Compilation (chaired by DrY. V. Reddy-1998) NM2 refers to:

5 S0, XOAE) DbaD DEceR v EoPBES (FYS &°.3.0.08- 1998 ) dis
HB)oh (1ird (Héardde [Hedo NM2 ek

Options :

Non-banking financial institution

v

" aroBonsd D& Hon
1. Ax @

Broad monetary aggregate
R )8 (B335 DBDN Bodrdo

2. %
Intermediate monetary aggregate
mobAches Hrded AT
New commercial bank
RrEs ardey argo
4, %
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In relation to 17 sustainable development goals, goal number 13 is:
17 5jo-d5)g ogge Sonodod, 135 oo 967
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Life below water
| % 8908 >d



Climate action
bt GBS

Quality education

 SEEd Ends 0
3. % T

Sustainable cities
HRondmS HED
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Which of the following is the fourth stage of Rostow’s stages of growth theory?
55% Gn¥) e 8o dupodo (FHeeto wrgd &€ 1b ?

Options :

Drive to maturity
| BS o Siirpd

Age of High mass consumption

5 % e =9 3@ e ﬂ%ﬁo!’qﬁ

Take- off stage

ST .



Age of social security and welfare
e a5 e ?JEJDE';E:% ahok ITE
4, % i
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Which of the following is a component of non-use value of a natural resource?
Bob a8 D6 2¥ Hredit @) EX@TNES Densé’ 2.8 Ko ?

Options:

Direct use value
(238558 &Hmher Dendd

Indirect use value
$56% endErhe Dend

optional value
SHHS Densd

Bequest value
ar5RE ( Bequest) Dens
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Given the imaginary values of the number of live births in a population during the
year 2022 was 300 and the total mid- year population in 2022 was 1,50,000. the
crude birth rate in 2022 was:

aé;w&é &aa’:ﬁééﬁ denso [HseBo, 20225 R’)Déﬁ%n‘ﬁoéﬁ s’ @Dma}ﬁ[‘ erTre Hogg 300

S0Bain 20228 ﬁoéé&,ﬁﬁo@ﬁ st Do (mid- Yearjearge dndo 1,50,000. 20225
Fméérjéoéﬁ 5088 (crude) edore Bén Do |

Options :

1.4 2

, % 0.002

3 x 20

4 % 0.02
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The estimated production of food grains production (in million tonnes ) in India for
the year 2022-23 as per the third advance estimate was around:
2022-23% Bﬁocﬁéﬂym&aﬁ i grbEndod? Smid oSty wotTre (Hs=to woilye dohalds

@8 g 658 (DD éaé:g_&}éﬁ} nsiEte
Options:
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1. %



265

2
331
3. v
356
4. %
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The foreign trade policy 2023 of India is based on the principles of:
F5E0E D68 588 derdo 2023,5 Sreee (principles) 3 sodHé ¢ob?

Options:

Creating conducive environment for importers

. B8 rHed [(PemrEl arendnrd) noito
1 :

Trust and Partnership with exporters

5 D8 orthHhosd ﬁ;’ajéﬁr:: SpBdso aﬂﬁﬁnéa’mﬂgc

Not to impose tariff on imports and remove quantitative restrictions on exports
Gibsnéde 2 hoseen dfodHore bdin NDEeD ﬁ@f)ﬁmﬂéﬁéﬁ Jdho|geen

3. # &ehfodbo

Gradual increase in subsidies to exporters
4 % NOHB mtHeH Bibe Dlen DBodko
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Which of the following statements are true?
Bod amges® D a)?

a) Convex iso-quant indicates that the two factors are perfect substitutes
Botd s°8s7en E-o‘@ng @@5&‘&3&@&3 ©? Hurerdd Hogrsebore Got Bﬁﬁﬁﬂnﬁ T
ok

b) Slope of iso-cost line indicates the relative price ratio of factors of production
i HyoHly @) aren GH)B s=iwe FDF §E AHBA Hrdkod

—0 —0

¢) Points on expansion path indicates least cost input combinations related to
same level of output

2.8 %;0:0 t%é;@& 20200005 53:% seal GemyiE danmrdire DNt Hio Wi 06
Dothihen Srdakon.
c) Area between the two ridge lines indicates economic region of production
BotH ﬁéﬂma D Y rgleli]e} 68 Gng) @gé laos=), ( region ) sSrakob
Options:

20aEeDn!
Options :

a and c only
1 % @ 8o ¢ HrEEdD

b and c only
b $bdin € S

a and d only

L x @EbaR d e

4.+
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b b6ain d SmeEah
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Which of the following statements are NOT frue in relation to cross elasticity?
Y 550555{5@%% Homofod) Bobd aﬁngmeg@@ﬁ d) 2l =% ?

a) Price cross elasticity is used to measure the degree of substitutability of products of any

two firms
8ot Hoge G Sde DHif HEIDS B Pesris §8 eEps sE S
ESEPAFE

b) If the products of two firms are perfect substitutes, the price cross elasticity value
approaches to infinite ﬂ
ot Hoge @nk) Hhen Ny Pemairss §8 ardoss o udo Dol edosll
DH5E00

c) Ifthe products of two firms are differentiated and cannot be substituted for one another,
then the value of price cross elasticity may be less than zero

Botd Hoe Shheo SRR DA ol OB 28 & 208 i) (BB BaherDs
Hen DEsFE 5 oLl 51“55555%0 Hrigo( ZEI0) ¥odl EXysimr eodnobd

d) The higher the value of quantity cross elasticity, the weaker the interdependence of the two
firms’ products

nbare aﬁééoéfﬁ ajﬂgjﬁﬁiﬁé;o Sens Qfﬂéﬁ')ﬁ“ &0, Both Rﬂo@@ dene E’Jtﬁ@tﬂ [Engal]
QOSFHOMT  Gotnod
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aobden:

Options:

a b and d only
1 % a, b Hb6cin d Srgah

b, cand d only
, % b, S0Baf d SHrED



¢ and d only

3 o C 000w d SeEah

a, b and c only

4 % 8b ®B» C HrED
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Which of the following statements are true in relation to an increase in money supply in
classical range of IS-LM analysis?
IS-LM 05560 gosd Bodd® (1535 $55E° nthrbriesd Honofod (Bod armged® DD aiy)?
a) It leads to an increase in rate of interest and level of income
b HE0 B0k errdhos® DHIHEHH wodib
b) Itleads to afall in rate of interest
b S50 SRFSerD8 wroBiob
c) Itleads to a rise in level of income
ob swrdbiran BWIHEH 8508

d) It leads to shift the LM curve left to the LM curve which already exists
ob, LM By, aifE &5 LM Jo 59355 Stetrd8 o800
Options:

anbhsen

Options :

b and d only

| x b SoBat d e

a and c only
, % @ ®ba ¢ HeED

a and b only

5 w @ H6c bSPED



b and c only
4. v b B3 ¢ HEED
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Which of the following statements are NOT true in relation to Keynesian consumption
function?
é‘%“} o) D@r Herdd Somofod Bob ﬁgmgaéﬁ 2D 2 S°H?

a) The slope of consumption function decreases as income increases
wIraho DDER G0 NETK Heo :ﬁnégj Pen éﬁf‘géjo&

b) There is no intercept to Keynesian consumption function
55) @ng) DIEFKHe08 aobbaY (intercept ) dotit

¢) In Keynesian consumption function equation, the autonomous consumption is assumed to
be equal o zero

ﬁﬁn\] @) HA@rNHL HEnEsmodt Ko {ﬁ}ﬂﬁf«r da@ENo r‘fa}mc";;& SaEHore Gotnotd)
[Fababo Bddbo 2:BACE

d) In Keynesian consumption function it is assumed that MPC >APC
tiarod DAGHK (B8, Sk DIGRS (KA ¥oB A totnod 85) @nY) DAG™H
Hoodh LK}E‘EJG‘EJO Fahto =bRok
Options:

soasen;

Options :

b, c and d only

| o b C 2bc dmEd

a, cand d only
2 % @ C b dSmED

b and c only
3. % b 60 ¢ SrEd



a b candd
4 % a b, c sob6dwd

Question Number : 75 Question Id : 51714413317 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are NOT true?
& (Bob aﬁega}gméﬁ g 2.aEetD ?
a) In a symmetrical distribution Median=Mode only
S ( symmetrical ) HodBS® Soggrgo =arvEEo SrED
b) In asymmetrical distribution Mode= 3 Median- 2Mean
&ﬁﬁ@ﬁ ( asymmetrical }éoﬁas@éﬁ EraTEE0=3 énr?ﬁél"{éo -2 @Déﬁ)iﬁéﬁm
c) In asymmetrical distribution Mean= Mode- Median
oS ( asymmetrical ) $05BE® oo = amsmegto - MiggHEo
Options:

aoaEen’

Options:

b and c only
1 % b $bdin c SmlEsah

a and c only
2 @b ¢ S

a only

3 % 8 &rEd

a and b only

4w @ Hobcin b Srlgsh
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Which of the following statements are true?
Bob m5535@6ﬁ 8) i) ?

a) An example of the non-linear trend is the second degree parabola
KEHODES GEAE aorirdn Bodd &R Soesedho (parabola)

b) For measuring the secular trend, a second degree equation may be an appropriate model
égmﬁé Evdn Podirdd Bokd &L_ﬁ REnE8Eo HanDE Surarme Dbl

c) A simple method to assess the appropriateness of straight line model is the method of first
differences

( method of first differences)

d) Gompertz curve is an example of growth curve
ﬁﬁoﬁﬁé E’)Lﬁém @@éaﬁa a8 et

Options:
aonEen:

Options :

b, c and d only
1. % b, ¢ SBaf» d S

a, cand d only
a, ¢ Sbdin d Hr|#EaDH

ab candd
3 ¢ @, Db, ¢ 0bdind

a, b and c only
4 % 8 bbo ¢ SmEd
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Which of the fpllowing statements are true?
Bod DN aa) ad) ?
a) t-distribution is called student’s distribution
5008 HpEot]) Sobd el ekt

b) t-distribution is used when sample size is 30 or less and the population standard deviation

15 known
Foa)d Hoareo 30 B¥ wotod sy Ralony FHOES rErdE Do BRI

t- 50BN GHBEATEE

¢) The variable t-distribution ranges from minus infinity to plus infinity
15058 Serod acg@n meaﬂééﬁ @080 SHod ﬁmé@ﬁ w00 HE Gotnod

Options:

sJoaEeD.
Options :

a and c only
1 « @ 0Bdin ¢ S

a, b and c only

a, b bdsn ¢ Hmwiead
2. %

a only
3 % @ SeEd

b and c only

4 % D 000 ¢ SrEd

Question Number : 78 Question Id : 51714413320 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are true in relation to Cartel form of collusive oligopoly?
2,085 G5 H6&E ArEigo Gk SYSH Homofod) (Bob arguged® D ax)?

a) The eqyilibrium price in cartel is like price in perfect competition
8680 55 Soigrs HEE° 55 e sotnod

b) Central agency is the highest decision making body in a cartel
svgé@ﬁ ol ma&n} LV R}gcﬁ}vﬁhs‘jﬁo DA éotnod
¢) Each firm operating in the cartel can enjoy the total profit it earmns
mg@éﬁ E“KJ%DFBESJ@ @ﬁﬁﬁ% 26 @goan"} o ergreid o &’\o"tﬁ)a ehgidoHi)

d) Each firm in cartel will get equal share in total output to be produced by the cartel
=56 6§ BTronhd dndo 685 sYSE (s 20y D& artrid dPothiod

Options:

aoasen:
Options :

a b candd
1. % a,b, csobdin d

c and d only
2. % Cc3nbaind

b, c and d only

_ b.c @bai dsreaD
3.

a and b only

4 o @ SO b SmE
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Read the following statements in relation to Liquidity preference theory of interest rate:
[ahizpleit cﬁ% Binth Homofodis (Bobd e SHgsn:

a) The slope of transaction demand curve for money is positive
a?,j%ﬂfﬁ sgaiore (el &m0l O aren émé&é{}m S0odnob

b) The slope of precautionary demand curve for money is negative
ot eriid [ Axrol Ty aren anerESorr &oénob

c) There is an inverse relationship between interest rate and bond price
a’;@ T HHbdn arod 855 268 Homotio &otnod

d) Speculative demand for money is income elastic
woilir amart (B3 A¥irol ewrdh axEitexd) 50A totnod

Which of the above given statements are NOT trug?

u

Bl wcgajﬁv@éﬁ o m@sﬂﬁ]?
Options :

a, c and d only

|« 8 C B d Som|e5ah

b and d only
2 « b Hbain d Sm@d

abcandd
3 % 4, b, ¢ sobdin d

a and d only
a $obcio d SwiEssh
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Which of the following statements are NOT true in relation to Sets?

=2 » vl N | n y s et
n:uéﬁm,fo Hoaofoi) 8ok m@mﬂméﬁ )8 2aset ?

a) A set which does not contain any element is called void set
e D5E° QOFodl) TEDE etndod ehiH arond( void ) 2 @otrth

b) The two equal sets will have exactly the same elements
Both HHES Diéfen pHHEore 2B5EDD Do EOA &otron

¢) The collection of all sub sets of a set Ais called the Universal set of A
2l A Go¥) ol sl 505 A dng) crlald e Lenard

d) Power set of B is denoted by P < (B)
B aing) 556 T P<(B) o drdard

Options:
aOaEen:

Options :

b, ¢ and d only
1 % b, ¢ $oBdin d HeEah

a and c only

5 % @0bdin C Hr|Ead

a, b and c only
a, b bdin ¢ SrED

¢ and d only
4. « C&obdiw d Som(esah
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Which of the following are the assumptions of Leontief input output model?
Bod aB° 2D DARKED GeBE eEB SHveae (Habdiren?

a) There is no technical progress in the economy
=0 ﬁ;égfﬁﬁ SrOBEE (58 Gotth

b) Every industry produces multiple commaodities
58 HOED aid Yo 6868 Tnobd

¢} The production function is linear and homogeneous
688 oo SEE0TEY SerBoDEDh DA Goinod.

d) There are neither external economies nor diseconomies in production
&eﬁ;@éﬁ a&wgé eSCTEeD S5O Eﬁ&é{:ﬁ“cﬁ)sn@} 528 Gotia)

Options:
aJOBIEen !
Options :

b, c and d only

| % D.c ®ba dEmED

d only
d Soeiessdh

a, cand d only
a, ¢ 5ban d SmiEad

a and b only
a, HBdsn b SriEsh
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Which of the following are the assumptions of Ricardo’s law of comparative advantage?
Bob aBS° DD 55"6:; GnE) HoTEE [HEres durodo Gt ahasren?

a) Labour and capital are perfectly mobile within each nation
558 B¥os%e ($d Hbdt Sreddo ard Koo SO Gotran

b) Constant costs of production
ﬁéﬂ:@l eﬁt}d‘j}uﬂn %ﬁiom &obtron

¢) Countries impose tariffs on trade
H8%0 Baven oseeih Dk

d) No technical change
APOBEE (HKS Gokith

Options:
aJoasen:

Options :

a, band d only
1 % a, b s0Batm daﬁ;v@:ﬁa

b and d only
5  bBa dSEED

b and c only
b s0Bdin ¢ Hm|gsah

a, cand d only
4. % @, cinbdin d S|edah
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Which of the following statements are NOT true in relation to items in balance of
payments of a nation?
a8 0¥ d0oxe 25068 wore Sozobod \Bob 6 9 2a) t5H?

a) The sum of the accommodating and autonomous items always equal to (1) one
$tpertn woFen $BAM Habo (268 wowe dndo Jad 288 (1) & Hsirdore Gotnob

b) ‘Above the line’ items are also called as accommodating items
‘TP 6ok moFed Bthartn Lo ©obrD

¢) The surplus or deficit in balance of payments depends on autonomous items only
ddoye 2508 Dorben B Shin Eﬁédﬁ:lo @}69‘5 LOFTOR Bﬁ}nLgﬁJ sEbnt Gotnod

d) Autonomous items are also called as ‘below the ling’ items
Senls (268 woweih ' Tpoll wowen ' ©d &rf wolrth

Options:
oJoaen;

Options :

c and d only
c $obckn d SoeEah

a, band d only

, o 3 bHBdH dEmED

b and c only
b Bdin ¢ Smigsad

a,b,candd
a,b,canbdin d
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Which of the following statements related to trade barriers are trug?
$58 ebostoH Somofod Bobd argped® 2D ady?

a) Tariff is a price- based measure
Yoo¥o onb &85 erbé z‘ﬁﬁfg

b) Tariff restricts the imports by increasing the domestic price of imported goods
BroHE TnHd Shde Kjﬁé% &8 odbio oroe oSo Bfivde dchol@lod

c) Tariffs discourage consumption of imported goods
‘osren BrHIHS DoHD Shde DT AEnEFHRoD

d) Tariffs encourage the exports of domestic goods
oseen @8 ShHe bEen [BhE)irakon.

Options:
alofEen:

Options:

a, b and conly

1 a, b S8cim ¢ SmEah

b and c only

, x b B0 ¢ P

a and c only
a SBdi» ¢ Sm(esadh

a, cand d only
a, c sobdin d é-}nLéﬁn
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Which of the following statements are true in relation to general Government expenditure?
b (shghesy ﬁé{iﬁjﬂ&)ﬂ Hoaotoi) (Sob aﬂémeg@éﬁ o) 2d) ?

a) The share of government health expenditure in total health expenditure was less than
34% in 2018-19
2018- 19 & anéo @fﬂﬁgﬁg 55di)oéﬁ ey e @aine:éogo {imég @5&@ éﬂrcﬁ}o 7t 34%
S0l EXire tob

b) The share of general government expenditure on health in total expenditure on social
services was around 20 percent in 2019-20

2019- 20 &° el DD DOD Indo Habod® et (H408; wbirf Hrabo mr
%rE 20 % 1P G0b

¢) As per the National Health Policy-2017, general government expenditure on health should
be 2.5 percent of GDP by 2025
2Bk &155!%5 Sgriio - 2017 (Hs=to, 2025 ==£8 reede (93De @5%5 spdho ﬁ:rr;@

ddarggs® 2.5% m sowd

d) General government budgeted expenditure on health sector was more than 2% of GDP in
the financial year 2021-22 (Revised Estimate)
2021 - 22 ( $5609% woiaren ) & ﬁﬁﬁr"’g Botfod Jrerbes (S5abe w@ﬁ& onle Kﬁg@

B8arg8e® 2 % %oB AKSr tobd
Options:
sloafen:

Options :

a, band conly

1 % a, b H8amn ¢ Sr@D

a and c only
2 ® a,snbBcdin ¢ ﬁrﬂ@éﬁ)

b, cand d only

5 » bciBa d SnEd

candd only
4 % cobotn d SHreEah
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Which of the following statements are NOT true in relation to NBFCs?

a@o&oﬁétﬁ L] F’ao@mfa Hoaofod Bob mémgﬂéf ) 2d) st ?

a) All NBFCs are not permitted to accept public deposits by the RBI
argoBonéd DEHoRen oBR [FPeo ok Gardiy w0l 8BoSirN8 gr88ah Besby amob

wiHB0STH

b) NBFC is a company registered under the companies act 1952 and engaged in the
business of providing loans
amoBonss DE0Y ©08 Sonde $ho 1952 (Bol $3rg SO avereid ©0B0d

m@%ﬂﬁoéﬁ &0t So2d

c) As of April 30, 2019 five NBFCs from Telangana (with regional office at Hyderabad) were
permitted to accept public deposits by the REBI
JBS 30,2019 =88 Boormrd (Frodah soxpdhe TrivarsE’) b amoBonds DY

ﬁo@@?{n [Beze ol Sardén wohEBoStrdl ardfch 5&5& 3?505 wsnfodod
Options:
alonsen.

Options :

a and c only
1 % & 0bdiD c SwE:D

conly
c Soe|edah

aand b only
a, Sobcain b smgah

b and c only

4 b E0BGD c EmeED
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Which of the following statements are true in relation to Balanced growth concept?
HoshDE @@ oot Sonofod (Bob @5335@65 o) 2 ?

a) Balanced growth is a static concept
HodbeE @% a8 AP S

b) Balanced growth recognises the significance of economic interdependence of various
sectors/segments of an economy
eagﬁ asegaigé% DAY Yorre FEre @gﬁ ﬁu‘ﬁéﬁ}iﬁ [Eimgals] L@ﬂﬁpa}g&‘& posDs 5'33% 108500
¢) Rodan viewed the balanced growth in terms of planned industrialization
erBeag oFistn triod Bel SohbE §Bd Sistomb.
d) Rodan’s idea of balanced growth primarily rests on ‘balance- in- demand approach’ of
balanced growth

S @nE) Ho&dE @% wdbss [@etidnEore Hobe c."%]% G0k ‘ea‘g@ﬁnj- B -
8508 oS ' D oprdhd éob

Options.
alonEen:

Options :

a, band conly
1. % @&, b, sobain c Soe|gad

b and c only

- b, 50Basn ¢ SmiEah

a, cand d only
a, canbain d Eix}n@éﬂj

b and d only
4 % b, S8cn d e
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Which of the following are the assumptions of Harrod-Domar growth model?
Bod a®&® DD TroeE - E5rb B S Bk [Sabdimen ?
a) There is no government intervention in economic activity of an economy
@gé 5355:36% @E@)ﬁ 5'?655@5}3@9545 @Se‘,i)éé éﬁﬁgo GO

b) Exogenous factors do not influence the growth variables
m&'ﬂéé Seisren 5’3&%} Herosrom ([RerddEo 3;:55}5’3

c) The absolute change in saving is equal to the relative change in saving
Treisps? DEDE Sty S g S $Emso

d) Capital -output ratio is constant
someede &eﬁnﬁ Dand ?Q:]i!ﬁorin Godnob

Options:
sJomEen:

Options:

a,b,candd
1.« @ b, c sp8ain d

aand c only
> % asndain c Soe{Esah

b and d only
3 % b®Bain dSmEs

b, cand d only

4 % bic BOSH d e
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Which of the following statements are true in relation to Life tables in India?
58 BEost 89 Eﬁ&é‘bé} Homofod |Sob ajnmowéméﬁ e euaj'&?

a) In India, the office of Reqistrar General & Census Commissioner has been preparing life
tables since 1970-75

1970-75 %08 erbstdod E:u:%@;ﬁ ele Sbdm ?\‘aéﬁ ) Sheplionts 89 555)5(\]5:1
&dirtD é@oﬁn
b) Life table states the probabilities of death and survival rates of hypothetical group of
population at different ages
DDY HaDBeE) e GnY) SFEE SHrste Db Hoa @88 By JorrHEh
35 306 BDchERow.

¢) Till 1990, in India, life tables were brought out at five year intervals
19903 Hos#)Bo H6% FrEEBEos” 85 T oth JosHToEEFd SarEDETN

d) In India, the life table for the period 2016-20 contains information related to birth and
death rates of population from age 1 to below 80 years
58 B8’ 2016-20 sro0 @) B9 BHS Schi 1 H0b 80 Sosyre KoB B

Hahin s tﬂnﬁ@ 2om anbdin soere é@& noaohois 5@?@5& w0biod.

Options:
cJod¥en:

Options :

aand conly
1 % a S0bckn c Sov{Esah

b and d only
b Hbcin d e

a, b and conly
3 ¢ & b s0Baw c&i}nf@éﬁa

c and d only
c Sbaiw d SriEah
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Which of the following statements are true in relation to Indian economy?
Eve ] @gﬁ a‘igaﬁag& Homogod) [Bob @5515@@’5 ) 2.l ?
a) MyScheme’is a part of digital public infrastructure in India
Do’ gr58 DEod® Babd ([He08y STOE Hidehes® ¥ grifo
b) ‘Bhashini’ is a part of trade policy in India
00 b B8 588 drod® af gro

¢) UMANG is a new scheme for improving agricultural productivity
&dmof (UMANG ) w36 spHarah GeEnEEE Dodirds ﬁé@%mﬁm ArEN 8o

Options:
ooMBeD!
Options :

a and c only
1 % @obain cHmED

b and c only
b 0Bd%m cSorEseh

b only
b S

a only
a So|&ad
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Assertion (A): In the short run, as the level of output increases beyond a limit, the average
variable cost also increases
(B8RS (A): ) Sr008®  HOMBI oD BHA Span DOAS Hiikn SBoH0 ERtt
&b

Reason(R): In the short run the law of diminishing returns to scale operates beyond a
level of output in the production process

09 R): gensrwos® 688 [HBcHS" &k Rand D0d BéE P VOAE EEFS00009 Edod
[HEsere Sr@o videod@od
Choose the correct answer:

208 é&ﬁﬁmmﬁj& Job¥ Dabsn

Options :

Ads true and R is true. But R is not the correct reason for A
A ey sobdin Ragy) ssRA S R {08 s¥emo st

1. %
Ais true and R is true. R is the correct reason for A
- A a@. sobdin Ra@.. A% R 03 s8eo
Als true but R is false
3 ¢ A aay) 520 R &8
A s false but K is true
4 % A é@, =0 R ma’glj
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Assertion(A): According to Cournot’s first model of duopoly, the elasticity of market
demand at equilibrium level of output is unity
BBFES (A): Bonyil @ng) Ioxd BreHd; Sirae [Heo SiEeg &E)BrRon 5 S0
Basmols mﬁgﬁﬁiﬁééo 2.86(1) e Gotnod

Reason (R): Both firms follow the MC=MR condition for attaining equilibrium
e (R): SH&F ey I5ERSerD8 Boik Hogen
tiarod sydbo=taro# trad aDirY) ehiibdon
Choose the correct answer:
ek ‘éﬁﬁmﬁmﬁ& Jo%E Dakosn

Options :

Ais true and R is true. But R is not the correct reason for A
A 2.5y 0bain Rad) ss0 A®H R {08 s°8wo st

1. %
Ads true and R is true. R Is the comrect reason for A
A Eu@, a0bdin Ragy A®H R G068 se8mo
2.
Als true but R is false
3 % A &Ejg] =i R eﬁ@
A s false but K is true
4% A ﬁ@, s R Euﬁjb:,
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Assertion(A): In relation to Zero sum game, if the pay- off 1s of market share, each firm
will follow max-min strategy

Deards (A): &ri Ando e donofod, D ©f 6l SrT arér wond, (58 éo§ )
- 03 R edeodiran.

Reason(R): In zero sum game, the loss of pay-off of firm M is equal to the gain of pay-
off of firm N
ey (R): ra Sndo abd® M 3 %oy G ) =56 Sigo N ﬁol‘g tﬂl‘;ﬂ&_ﬁ: and® edss oee

(gain )& Hairso

Choose the correct answer:
208 MHDGHPN\ Joh¥ Ddkodn

Options :

Ais true and R is true. But R is not the correct reason for A

1 A i 20Bdn R eu@.. =0 A R &85 sebemo 52

Alds true and R is true. R is the cormrect reason for A

5 % A s %&Eﬁcﬁmﬂe\,@\, ABH R 583 sebro

Als true but R is false

3 % A&@L’%‘JR eﬁ&m

A s false but R is true

4% A &3 sOR ad)
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Assertion(A). According to supply side economists, supply side factors will play an
important role in changing the level of employment and output
(B8RS (A): Sxdgs @gﬁ 3%@ (B==80, ﬁ;ﬁ%ﬁna} 5;030 EsWalen) &éﬂﬁﬁgmﬁﬁ ety
B:0%05008° $HBH b [Hed SFEEhRro

Reason (R). According to Arthur Laffer, A cut in tax rate shifts aggregate supply curve
leftward and leads to a rise in employment and output
e (R): @gﬁ eryb (S50, aﬁﬁa&é&n Shodiko HoF HY d3do Bp A JH 568

6E%AY Hbcn 6EBSY DL Todiod

Choose the correct answer:
SIehy &émq:oan&& JoS¥ Dasndm

Options :

Ads true and R is true. But R is not the correct reason for A
1 % A 28 Dbcin Ragy s=0A®H R X085 s2bmo 5o

Ais true and R i1s true. R is the comrect reason for A
A Eua';rgj, soBdin R &:ﬁ"ﬁ}. A R H08 s*8eo

Ais true but R i1s false
3 ¢ A a,ajgj sal R é@

Als false but B is true

4 % A e‘é&"\ﬂ} 5o8) R eue'@&
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Assertion(A): According to classical quantity theory of money, there is a direct and
proportional relationship between price of individual products and the
variations in money supply
(B8RS (A): Hoierad Bigoe8 Hrroo (Hsebo, (S SR Setpes Hbcn P&
S oo éj}tﬁrg L}.’)ﬁﬁﬁ b5 ®ard HSonolo Gotnod
Reason (R): It is assumed in classical quantity theory of money that the economy
operates at full employment level of output in the long run
&% (R): &g}m@oéﬁ SR SorBahne aH)s Rpow Bt EXF0E Boknotsd
NoRrdD (Egoed ?om;oéoéﬁ Gabaho Bahtio wbR0H
Choose the correct answer:
9B ey DobE dcnin

Options :

Ais true and R is true. But R is not the correct reason for A
A a}@, subdin R eu@,. =0 AS R 088 se0o 5°th

1. %
Als true and R is true. R is the cormrect reason for A
n e = "'/'v\\ 2% ﬁ =
5 % A 2,83 soBdio R 2.8y, A® R 288 so8mo
Als true but R is false
3 % A Euajgj =2 R Eé@

Als false but K is true
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Assertion(A): According to permanent income hypothesis |, the actual income of some
Households may be less than their permanent income

[©BRES (A): 88 ewrdd H565e)S [Heebo, B Hinozre Gng) aPND
(actual ) eordhbo ar8 G T4 errdbo Sodl S5 Golldl)

Reason (R): According to permanent income hypothesis, the households whose actual
income is less than their permanent income will have negative
transitory income
iﬁe‘.ﬁ)@ (R): -5’0-55&5 inelo! 5’365@&.}6 [E5=80,0) Bénoare cﬂa}é& 60%595 srrdho b {iﬁmﬁé
TR errdho Eodl SXyre totnoll & Hinoaren mmé@ﬁ olopids
strdied)) BOA &obron.

Choose the correct answer:
ek K}ﬁﬁ@@&f& JohE Dakosm

Options :

Ais true and R is true. But R is not the correct reason for A
A eug;rg:] sobdm R eu@,. =0 A R 888 semo 5o

1. %

Ais true and R is true. R is the correct reason for A
5 @ A a,.@j, soBdo R&@,. AB R &8 s8mo

As true but R is false

P o8 =

3 % A a.a)) S R éc@l’

Ais false but R is true

A &y s R aawm
4. % k. .
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Assertion(A): In the multinomial distribution there are more than two possible out comes on
each trial
BBFES (A): @058 (multinomial) HohBd® (58 [Habeo ( trial ) & Botd KoB s

POeren SaRow.

Reason (R): When an asymmetric six side dice is rolled, then one can see that there are
six+1 possible outcomes )
& (R): @i (asymmetric ) ethgsy (sides ) end) arDwd 86 TG
6+1 $=een ( OUtcOMES ) Sram.
Choose the correct answer:
938 D) JobE Dakin

Options :

Ads true and R is true. But R is not the correct reason for A
A eua');j s0Bdio R a@,. A B R (88 so880 57

1. %
Ais true and R is true. R is the comrect reason for A
5 % A 2.3y bdin Reaa) AD R 8088 sefeo

Ais true but R is false
3 @ A a@ sal R é@;}
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A 83) sAR aa)
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Assertion(A): When there s either perfect positive or perfect negative correlation between
the variables X and Y then both the regression lines (X on Y and Y on X)
coincide each other

E8aRSS (A): X hbasn Y Sipde oty R‘io‘@ng ﬂﬁa“ééé Gl é@@g a}mmﬂééé St letalelnle;

G083 (X 5 Y Hbcm Y s X)Bod (&K Open 250
( coincide) tofran.

Reason(R): If X and Y variables are independent then the regression lines of X on Y and
Y on X are upward sloping
&5 (R): X $0bdin Y Seroseen RBo(BddrT o8 X So5 Y oboso Y &g X

L{Jﬁﬁﬁnéﬂa}m 28 70 fiotran

Choose the correct answer:
{93 Samerae) Qob¥ okin

Options:

Ads true and R is true. But R is not the correct reason for A

. A ﬂw@, s0Bdio R a@ﬂ}. s A B R 888 se6wmo 5°th
1.

Als true and R is true. R is the comrect reason for A

5 % Aa{m;ﬁnﬁcﬁmﬂﬂw%. A Rﬁgﬁ@fﬁmo

Ais true but R is false

3 ¢ A&@TQR é@;:

Ais false but B is true
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Assertion(A): In general, polynomials of third or higher degree are not fitted to time

series in either arithmetic or logarithmic form
SBFES (A): s H6cn wodBoB Iy A EOAS FDarehchd) wok Ser erh

506" seEdS aXd@rhost

Reason(R): The reason for assertion is that these curves permit too many changes in
direction and follow the cyclical ﬂuctuatjons in the data as well as the trend.
D (R): (855 sBmo, & Tyen 636 ¥ Srtpo «:DHBoSbo8 S,

SEm0¥o8d Srin GBED i rBILeH eHibFow.
Choose the correct answer:

B Sergrard) JohE Do
Options :

Ais true and R is true. But R is not the correct reason for A
A 2.3y s0dcin R a.ay) ss0 A BH R #E83 5780 5°th
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Ads true and R is true. R is the comrect reason for A
- A aqy) 0Bain Redy) AX R &§88 se8wo
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A 5 =2 R
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Assertion (A): Linear programming problem is a special type of optimization
Problem
(B85S (A): DRAHE (PEreivoR Sy @6 28 HEEDS @%@éa‘ﬁ Hoi.
Reason(R):  Inlinear Programming, the conditions: x greater than or equal to zero

and y greater than or equal to zero, are called non-negative constraints.
89 (R): HAcHE (@Frrsnofis” x «ib Eeifo o8 2Ky S EraeglB Hiiro $HBD
y b %PKJ&O Eoid &J*fa@aﬁ T ﬁ]ﬂ@éﬁ]& JErdo BB dmolhed
mmé@éﬁcﬁ( non-negative) [H&aogseen ( constraints) wotrs
Choose the correct answer:
0 58&?@@@1 Jo%¥ Daknsm
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Assertion (A): Foreign exchange arbitrage refers to purchase of foreign currency from
wh:ere its price is low and sell the same where its price is high
(SBaRES (A): D84 Sr58D soggibeco ( arbitrage ) i o6 ﬁi‘g 58 BEpSre 65
SO rRRED o) 8 e &) Srop eiinho
Reason (R): In foreign exchange market, speculation usually occurs in forward

exchange market
%S (R) 984 $e859 aﬁjﬂﬁgﬁﬁ, i!“fﬁéga &é&oé Bﬁ}ﬂ&@é@i Fbaor ?em\.ﬁ}géaﬁ

ztreob.
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B ré-a‘a:umoao@_ Jo%¥ Dafnsn
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Assertion (A): Special Drawing Right (SDR) has the characteristic of an international
Currency
[©8arES (A): 8 (ool S @Joétg@cﬁj 5888 608 oFmo totnod

Reason (R): SDR derives its strength from IMF members being willing touse itas a
reserve currency and i1s backed by gold.
Y (R): @oeﬁt&;@dﬁj 6585508 Hahgen S8 (mronoh FEne Bealby Eﬁﬁh‘:,r'iﬂ

E5@PRoSErDE o SBdn d I8 porrdo sobo [;ﬁdé
Gromoh e aeo DERGHRRAD.
Choose the correct answer:
R0R Sererard) ol Bk
Options:
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1. ®
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3 A2 R éﬁo‘fm

Als false but B is true
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Assertion(A). Gross GST collections in July 2023 were more than 1.60 lakh
crore rupees
[Bi&aress (A): =28 2023 &t 55;@@“‘“ é@fné@ ) éﬁ}n%‘fq;j 1.60 oFo Eﬁéﬁg,
drakahe 0@ Q8T Gamom.
Reason(R): The GST council has brought petroleum products under GST
coverage from 1/7/2023
e (R): 1/7/2023 5 H08 20558 N6 E*DaHo & & 5y e &8y
$6p6%8 BB 08
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W0N DEreEarl)) aows Sasosm
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Assertion(A): Transfer of grants to states by the union government based
on the recommendations of Finance Commission is a part of revenue
expenditure of the union government

B85S (A): @88 Soibo [H8arESe epror ol BHibeto Tleho 268 T
rroty ol [B2beco ns) By Ef':uﬂgdﬁmsﬁﬁ a8 grifo

Reason (R): Interest payments by the union government are a part of capital
expenditure in the budget

S (R}: S0l @ighéo S :ﬁé FDosyen a@éﬁeﬁf Seertsis a’qédﬁméﬁ 2.8 gelo
Choose the correct answer:
00 ﬁﬁpmﬂmﬁ& Dobh¥ Dafoso
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Als true and R is true. But R is not the correct reason for A

_— A ey sobcin R ad). 520 A% R {88 s*8mo s°th

Ais true and R is true. R is the cormrect reason for A

5 % Am{m soBdin Reuﬁg_:,. ASH R &83 s8so

Ais true but R is false

3 @ A e -\.E%JRééogB

A s false but R is true

4 % Aéa’;rgj, T?IJREU@
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Assertion(A). During the period of inflation the RBI may sell securities in open market.
BHasess (A): @5555%93 o0’ griE el ag08 aardon mﬁéﬁéﬂ ?\35:-1356&@}3)
@éﬂéﬁ)@ﬁ?

Reason(R): As a result of purchase of securities by the banking sector
from the RBI, the volume of credit in the economy decreases. So this
measure may effectively control inflation

&g (R): argBon Boro gr8E Baby a8 Mok ?\ﬁ:rvm&é;meﬁ} EnoRlen BaHeo Sos
@gﬁ 5555’3*@;6‘5 2856 Hbdrso é{ﬁ}@ﬁé}oﬁn. il £ rﬁfﬁé @5*3‘5{:5@&:1
Navslalellelyy Acho®od Denob.

Choose the comrect answer:

B VErerard) dows Fasogn

Options :

Alds true and R is true. But B is not the correct reason for A
A aqy) 0bdin Reay s20 A% R {08 sefwo 5°th

1. %
Ads true and R is true. R is the cormrect reason for A
A eu@j sobdiom R eu@,. A R 508 sebmo
2.
Ais true but R is false
3 % A m@. sea R é@
A s false but R is true
4 % A é@ 5780 R au@
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Assertion(A): The value of Gini coefficient ranges from O to 1
D8RS (A): &R Do dend 0 Hod 1 i tsotnod
Reason(R): The value of Gini coefficient 1 represents perfect equality
and the value 0 represents perfect inequality

&9 (R): 29 rhebo Dend 1 e ¢o8 eb Sofrd Sbrdemd) bdm 29 Hsgo
Dend 0 e 08 ©b ROFY BRNErNER) B8DchERob
Choose the correct answer:
KB Erprae) Hobs ainsn

Options :

Ais true and R is true. But R is not the correct reason for A
1% A a@ snbBdin Ra@,. =0 ABH R {088 so8o =°th

Ais true and R is true. R is the comrect reason for A
A Eu@, s0bcdio Rad). AS R 583 se8we

2. %
Ads true but R is false
- A aé&.sﬂﬁjﬁ Eé{q;ﬁ
As false but R is true
4 % A &3 = R 2.3y
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Assertion(A): Adam smith considered increase in wealth as an index of
prosperity of a nation
RBRES (A): Sons6® HdEe .8 3 rgeris e sEs soNGEomd
Reason (R): According to Adam Smith parsimony contribute positively to
increase in wealth through increase in capital accumulation
% (R): sias (Peedo anarbEto ( parsimony ) sres Koschdod® Bihse

Apien P00 iﬁmé@ﬁ 2hded 8idso 5@0&

Choose the correct answer:
208 Kzaﬁﬁqw?g_ dohE Dasndm

Options:

Als true and R is true. But R is not the correct reason for A

1@ A eué%j, soBdio Reu‘é,m. 0 ADH R H508 se8mo 528

Ads true and R is true. R is the comrect reason for A
A ai".:n{, obdin R 2.y ASH R {008 se8emo

2. %
Als true but R is false
A a@:, =0 R &5
3. %
Als false but R is true
A S5y se0 R oasy
4, % 0 3 0
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Assertion(A). The Maternal Mortality Ratio (MMR) is defined as the number
of matemnal deaths during a given time period per 100,000 live births.

[Paarss (A): a8 0B s00f [Frraos” 2ES (58 1,00,000 =dved [irs Hmre
K&om@&ﬁ) (83558 e K)@%W R‘;Eﬁéﬁoﬁéao a6hob
Reason (R): Maternal Mortality Ratio in India during 2018-20 was 97
iP5 (R 2018-20 sreoofd grg Bdod’ [5rs shbere Apd 97 e God.
Choose the correct answer:
208 ﬁéﬁ}nmﬂaﬂﬁ& JoSE Ddsnsm

Options:

Als true and R is true. But R 1s not the correct reason for A

1@ A Eua';rgj sBdio R a_.im. s A R ‘p’f@?ﬁ 5820 S°Eh

Ais true and R is true. R is the comrect reason for A
A &@, soBdm R eu@,. A R {08 s8mo

Ais true but R is false
A

3 % a%mﬁjRéﬁ@

Als false but R 1s true
A &5y =D R as
4, % = =
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Assertion(A): Since 2017-18, in India, the data on Employment and Unemployment
is collected through Periodic Labour Force Survey which is conducted
by the Ministry of Statistics & Programme Implementation
(B85 (A): 2017-18 0l FrBELES® &ERS HbaAMm IHE RS HSoa0holk BEroTRY
( data ) scemiotioee |BoakE {51 53:\_ apos %ﬁ@@@@ﬁ}. =] E‘\'ﬁ:\jﬁa femo¥ snbBdim

Ssee @enen ai)o@éé%“& 5:1553}”@05]
Reason(R): The survey period is August to September of next year.
Y (R):  #owreo e ok S8 HodE)bo Dowd S8
Choose the correct answer:
KB SEmrrae) dody Dainin

Options :

Ads true and R is true. But R is not the correct reason for A

1% A&@jéﬂtﬂnﬁa@,. s A R &88 se8mo soth

Ais true and R is true. R is the comect reason for A

5 % Ac—u@:, snBdin Rﬁw@.. ABH R &088 sebmo

As true but R is false

A a0 ROy
3 ¢ a2 a2

Ais false but R is true

4 % A é@; 50 R a@,
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Assertion(A): PM-KISAN is an income support scheme of farmers
(B&aRES (A): Habed - 8BS HSarah oothe ewrad B ko

Reason(R): Under PM-KISAN, each farmer will be given Rs 6000/ per acre,
per year in two instalments

) (R): HovD BrS Hi8o wrpe (58 SHerdbriRg, (@8 8o, @8 Dodg)bo
Both aronmred® 6000 Srarchen SFE.

Choose the correct answer:
01 F’:;aﬁjvmc'a“&cl Job¥ Datokn

Options :

Als true and R is true. But R is not the correct reason for A

_— A ad@, s00cin Raa 20 A S RE0S o soth

Ais true and R is true. R is the comrect reason for A
“ A Eu@, sobBdm R au@,. A® R 088 se8emo

2.
As true but R is false
A asy = R &g

3. v b

Als false but R i1s true
4% i é@ == R eu@
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Arrange in ascending order the following costs assuming that a firm is producing right
to the least average cost point in the short run:
Sepereos’ ¥ Hox ERE ko B0 DothHh HEHY el EIFAER Hbabo DX,

Bob Soireih w8%Fn Ehod® ekt

a)  Marginal cost
t:ar0d o

b)  Average Variable cost
Ofén S8 spabo

c)  Average cost
KD draho

Choose the carrect answer:
B8 Simrrard) dody Banin

Options :

1 % abec

> % acbh
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Arrange the following in descending order based on the value of supply elasticity:
596 argBliEio Dend wertorr Bob B wB8ie o8 ety

a) Supply curve is parallel to Y axis
Hadu Ty Y gl Sirodtorr &0

b) Supply curve is like a 459 straight line passing through origin
$5dD By 45" 5580 Gold oo $0f BehEod

¢c)  Supply curve is upward sloping but if we extend it, the lower part of it cut the X axis
HgdD O 28 70 tobar, R (B0 grifo X efo thow RthEod

Choose the correct answer
208 m’)ﬁmmﬁ& Joh¥ Dofudn

Options :

1 ¢ b.c a
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Arrange the following in ascending order based on number of prices a monopolist
usually charge: "
Qﬁ%ﬁéﬁgj ) Sdren Do B8e Hogy egrdorr (Eob =82 ubirs ijaﬁmefiﬁ RV entaw

a) Third degree price discrimination
St &R 58 A=)

b) First degree price discrimination
058 BB 8 DG

) Second degree price discrimination
Boss AR 58 DisEes

Choose the correct answer
9B Sargraed) dobE dakim

Options :

- bh.\.e

c.ab
4_%’-3
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Given the Investment function I=100 -5i, arrange the level of | in ascending

order at following interest rate (i) values:

askols Dépad doo =100 -5i, ol a5w@ES 35% Bén Dende 3¢ Dipol Fand
@i (Sod eositiyysin

a4

b) 6

c)3

d)5

Choose the correct option:
B DErEEe) QohE Danin

Options :

1 % abecd

z.wb,d,a,c

3 % d c, b, a

c,a,d b
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Arrange in descending order the imaginary rate of unemployment as per

Philips curve analysis based on the following rate of wage inflation.

2O 0 D (Do, (Bod JES (BT 3@:453@ e R6E%sAE B ©58%5m
Bosd Clentan)

a) 6%

b) 0%

c) 10%

d) —1%

Choose the correct answer

KBRS DarErard) oo Safosn



Options :

1 % acdb

c.db a

bacd

ﬁ/d,b,a,c
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Arrange in ascending order the volume of consumption expenditure + saving
assuming personal income is Rs 1000 and at following personal tax volumes:
385 errabo 1000 Srarahen o [Hhdbodh Bob adwas 38 &y Hedrmre Hi

éﬂ’cdﬁ)o + grtie)) SbsmeEeih wbien Lﬁéméﬁ @é}fﬁ:{}c‘fm

a) Rs 200

200 trarchen
b) Rs 500

500 Brarchen
¢) Rs 600

600 Bmardhen
d) Rs 300

300 Brarchen

Choose the correct answer
808 K)Eﬁ)vmﬁaﬂﬁcl doD¥ Ddabosn

Options :

¢, b da
1.4



a.d eb

b c,ad

dabc
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Arrange the following in ascending order based on the values (in general)
of the following:
Bod ar® Dend (Frgrdesorr) eprdore (Bob B wbiire Eios® ety@n
a) R?
R._
b) Adjusted R?
Sarén BN R
c) Perfect negative correlation
Kma@,wg mwé&ﬁ SaFriomodio
Choose the correct answer
R0R HePEEEr)) oJomE Boknein

Options :

1.% ab,c
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Arrange in descending order the value of index numbers derived (in general ) from a
given set of data by applying the following methods: ~
Bod B’che‘ﬁ)@éa &nd@rhod a8 ‘T’g‘%( given data set) 3 Serodo egrbore Uﬂ&@é r‘fmfmoa;é
Do w5t Ko Cheniny
a) Laspeyre's method
i) ahh) écg@
b) Paasche’s method
) S8
&
c) Fisher’s |deal method
26 k) @esrd
Choose the correct answer
sk cﬁéymm@ 2ohE Fainkm

Options :

a6

7
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Arrange in ascending order based on the proportion of items included under
each of the following in a normal distribution:

sriimi o (normal distribution) & (Bod (58 & Bol o6 woe eikardo egrorr
Bod a8 ebrn (Eo8® ebysn

a) Arithmetic Mean Plus or Minus Mean Deviation
w0 o * i ddedo

b) Arithmetic Mean Plus or Minus Quartile Deviatio
w0l a‘m:i;;ﬁ:»o s ﬁéﬁag ddeso

¢) Anthmetic Mean Plus or Minus standard Deviation
©o¥ o * ErardE Ddoto

Choose the correct answer
Sk f”o'a’ijﬂm“aﬁ&cl dob¥ Dabosn

Options:

1 = cab

Question Number : 120 Question Id : 51714413362 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Arrange in descending order the following matrices based on number of elements
in each matrix: ﬂ
BBErBEs® tod woe (elements) sgrtore (Bob SrBEuH 0dbirn Efod® e}

a) 1 x 4 matrix
1% 4 &m(&8
b) 2 x 5 matrix
2 X 5 tim|is

¢) 3 x 2 matrix
3 X 2 8m(&s
d) 4 x 3 matrix
4 % 3 (&%
Choose the correct answer
B8 DEmgrr) dobE Donin

Options :

1. dbca

cdab

achbd

b,a,dc
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Arrange the following (related to international monetary system) in chronological order:
8ok =& ( @oét&;@cﬁ} (655 SigEinish HomofolNa) sre|Esimdalto e

[
a) Beginning of gold standard

2l (Hareo (arbodio

b) Smithsonian agreement
?@&f}%dﬁjﬁ) ajotio

¢) Beginning of gold exchange standard
5 DD [PHermo [FFBogio

d) Breakdown of the beginning of the Bretton woods system
Dbs HE) 855 i ( breakdown) (F=5ogo

Choose the correct answer
R0 éfﬁnmumuﬁtg_;)oﬁaﬁ Scsnsn

Options :
d, b rc a

1. %

a.c db

achbd

b.dac
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Arrange the following conferences of UNCTAD held prior to 1985 in chronological order:
19855 Hod& o BoB swoth &b Bob UNCTAD Siraeeid solfhmharto

@aﬁniﬁj&m

a ) Belgrade
DSNE

b) Nairobi
36°

¢) Santiago
FoBairi

d) Manila
e
Choose the correct answer
KB Sargraedy) o Doinin

Options :

dachb

a,cbd

¢ b da

h dae
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Arrange the following states in ascending order based on development expenditure
as percentage (2018-21 average) of total expenditure of each state:

Bob (8 Uﬂ[{:}-_@ dng) Indo a’Jg)ﬁiﬁJoeSﬁ @5)6’5% ssaho Gng) TS0 (2018 -
21 Siiew) egrdore (Bod Tz @B ([Bos® esbtyEn

a) Punjab
Dosra

T

b) Bihar
A2

c) Kerala
£l

d) Mad hyg Pradesh

éoiﬁg} Bias
Choose the correct answer
88 ﬁ&’)ﬁm"m‘ﬁ& dobh¥ Fansn

Options :

daechb
1. %

b.dac

c,b,d a

4 a,cbd
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Arrange in descending order the fiscal deficit financing composition (2018-21 average)
of India general states:
FeBE0E roriem oapen (general states) D8&%w (fiscal deficit) & Fri%R 288

€
( 2018-21 5K60) D o555 Ejﬁoeﬂﬁ ety

a) Public accounts
ee==dten ( Public accounts)

b) Loans from centre
oo Hod eipen

¢) Market borrowings
E,ﬁ:ma@re? S00ETED
Choose the correct answer
R0 535’131}@@5:1 Qosh¥ Dasoso

Options :
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Arrange the following committees related to banking sector in chronological order:
agoBoh Sorrd8 Hoaofods (Bob gndes solEsmoarso ety

a) Leeladhar Committee
DerisE Eand)

b) Nayak Committee
B Kol

c) Narasimhan Committee
$EH05rs K0
Choose the correct answer
¥BS SErgrard)) doby Do
Options :

1 % c, b a
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Arrange in ascending order the following criteria based on corresponding score of each
criterion as adopted by NITI Aayog to prepare Sustainable Development Goals India
Index- 2018:
E’\J{Soémﬂ]@% OFe U S8 - 2018 9 SAHBCHrDE D8 edrh wiHbods |Bob
DabsreiD ( crteria) , [H8AhH0 @ns) BB egrborr eb%re [EHod® wmbyin
a) Front runner
Bot5 556
b) Performer
335&:‘5@5

c) Achiever
556

d) Aspirant
dirrBo

Choose the correct answer
R0R é-ﬁjﬂtﬁ“cﬁ“@cl DodE Dasudn

Options :

1 % a,cb,d
2 % b,d, c a

dbac
3. %

4 % c,a,db
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Arrange in ascending order the surplus value based on the following values of
rate of surplus value (r) and variable capital (v).
BoB® oiben Dend Béw (1) By SBSmesso (V) Dende egrdore ofmen Dendid

bl {{jéjoéﬁ Ena’)ﬁal}m

a) r=0.5and v=10
r=0.5 &basn v=10

b) r=02andv=5
r=0.2 50b6d50 v=5

¢) r=04and v=15
r=0.4 sbaio v= 15

d) r=01andv=2
r=0.1 shbdsn v=2

Choose the correct answer
STehy K:ai;mmumuﬁ& JohE TS

Options :

_— ¢cabd

5 % a,cdb

3 % db,ca

dbac
4. &
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Arrange the following years in descending order based on the percentage of 15-59
years age group (as per the report of technical group on population projections for
India and States 2011-2036, MH&FW July-2020) population in total population of India

in the following years:

1Bob é-oaﬁeﬁﬁjm@éﬁ arBERY dndo g 15-59 é-oéé&m@ Ddbin S588 sy FE0
(B85S (15 ©f YBLS (BEER) 96 mobaie ok [ 2011- 2036, ab. 35
P ey w=B- 20200868 Hsdo ) serdorr Bob JodE el 6Bt [Ehod®
@é}fﬁ]l:,m

a) 2016
b) 2026
c) 2021
d) 2031

Choose the correct answer
£08 53}?@@&& Joh¥ Dkosn

Options :

1 % c,adb

acbd

d, b
3.0 &8

b.d, a,c
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Arrange the following schemes related to industrial promotion in chronological order:
TrBFEnE (ol Howofodd (Bob HFisceid srelidriarto eidyEn

a) National Single window system was announced
J:556 Hohd Dol® v (EHEHoDS6 ( announced)

b) PM Gati Shakti National Master Plan launched
DAbE HBEE IG5 Er6 ard (@8ofoDod ( launched )

¢) National Logistics policy launched
XS eraRE) ared (FrEofofod (launched)

Choose the correct answer
KB SErgEaed)) JodE Batnin

Options:

abc
1.+

b.ca

c, b a
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Arrange in ascending order the following crops based on minimum support price
(Rs per quintal) of each crop for 2022-23 Kharif Marketing season:
2022 - 23 b5 EﬁjﬂEﬁ@,ﬁoﬁ held 5% 1Bod (358 Hoby @) H) Eﬁngéj ffs (&é@éﬂ“ﬂ%ﬁ}

Srarched’) egrborr adie HSobed abirn L{iaﬁmfﬁﬁ @5’}363;,&’)}}

a) Maize
S8 &7

b) Jowar- Hybrid
e - rdE

c) Bajra
FOBIED

d) Ragi
oerhen

Choose the correct answer
R0N é-aijﬂm“aﬂﬁcl JodE Dainsm

Options :

dachb
1. %

abdc

achd

c,da,b
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Match the following quantities with prices based on the assumption equilibrium quantity =
10 units and equilibrium price = Rs &
DT ey H65rEo 10 drdy B $HTg 8 8 trardben &3 [Hadbo grtorr

(Bob HbErered o8 EBoid sttt

Quantity
aBame0

a) Demand price at 8 units
8 dhrddSe o“ag 5wl 88

b) Supply price at 12 units
12 cledéhe aln) Hado $8
c) Supply price at 6 units
6 cfreiSe alo] Nad §6

d) Demand price at 14 units
14 chrdé5e 5 &sirok 45

Price (Rs)
56 ( Grarched?)
I) More than the demand price
Bsrof 88 o8 )50
II) More than the supply price
Had 8 S0l A%)H
1) Less than the supply price
DR 5% Bold HE

IVV) Less than the demand price
B5rof B8 Y08 B

Options:
HEPTETRED
Options :
a- IV b- 1l c-l d- |
1. %
5 % a- | b- 111 c-l d- IV
% a- 1l b- IV c-1 d-1
a- Il b-1 c-IV d- 1l
4. &
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Match the following:
Bob ar@d edHHin

Price (P) and Marginal Cost (MC) Lerner’s Index of monopoly power
%% (P) shbdin éarod gabo (MC) 255 ) aSagg 48 578)
a) P=Rs 20 and MC=Rs 10 1) 040
P= 20 &rardhen sH6ain and MC= 10 Grardben
b) P=Rs 30 and MC=Rs 20 1) 0.20
P= 30 trarcahen shbdin MC= 20 Srardben
¢)P=Rs 10 and MC=Rs 6 ly0.33
P= 10 trearahen shbdin MC= 6 trardben
d) P=Rs 15and MC=Rs 12 V) 0.50
P= 15 Grarahen sHBain MC= 12 Srarchen
Options:
e
Options :
a- | b- 1l c-1l1 d- IV
1. %
a- v b-ll c-1 d- 1l
2.9
3 % a- Il b-1IV c-1l d- |
4% a-Il  b-1 c-1V d- 1l
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Match the following theories of firm with proponents of each theory
Bod, Koy dnE) Mrrosroil D [H8rH0DN TO8&° e:558HEm

Name of theory Proponent
Rerodo 2 L ATe T vale ™)
a) Managerial enterprise theory ) W.J.Baumol
DHIEBEHS Jokb(PE 58 Kep.B. J5rs
b) Sales Revenue maximisation theory 11y O Williamson
D) DKy EPERS 56 £.. DDADHBS
¢} Managernial discretion theory ) Cyert and March
adoahd ERBAS &5 hE abok Srh)
d) Behavioural theory V) R.Marris
DrDaHdS 65 wb. HrBR
Options:
SR M ARV
Options :
a- v b-1 c-ll  d-1li
1.¢
a- ll b- | c-lll - d-1V
2. ®
3 % & m b-v cl d- Il
4 % a-Il  b-1 c-Iv  d-1l
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By taking into account the basic relationship between change in rate of interest and
its impact on volume of investment, match the following rates of interest with
imaginary volume of investment:

?;:Je:muea& 3BrEo R aﬁ%ﬁméﬁa By |Berarid Somofold (@REinE Hovodo sgrore
Bod 33@ Ol mdiads &El Dinad $65rEe8 aENEHhin

Rate of interest Imaginary volume of investment (Rs crores)
5606 (%) gupgs Dol Sbirno( 8y Srardhed’)
a) 5% ) 70
b) 4% 1) 40
c) 8% 11y 50
d) 6% V) 20
Options:
Hemgraren
Options :

a-Iv b-il el d-1I

a-l b-Il cll g1V
2. %
3¢ alll b-1 ¢V d-I
a1l b-1V ol d-lI
4.%
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Match the following values of investment multiplier (K) or marginal propensity
to consume (MPC) with the value of marginal propensity to save (MPS)
1Bok "&Jé}}e}mﬁ KmEo (K) Bor &arod DO@EPH L{JKJE)@; (MPC) Dendeoidh Garo# rthHsd

@& (MPS) Dend & msHsHin

Value of K or MPC Value of MPS
K 8> MPC ens MPS Dens
a)K 1)0.10
b) MF'C 0.90 1) 0.20
cj I 0
d) MF‘C 1 V) 0.25
Options:
MSITRGEITRED
Options :

a-1 b-IV cldll d-ll
1. %

all b=l ¢l d- 1V

3 % @& vV b-1I ¢ d- Il

aIv b1l cdl d-l
o
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Match the following years with gross national income of India at constant prices (2011-12
series) in these years as stated in Economic Survey 2022-23 as part of
statistical appendix:

0 0y 2022- 23 6° FBYES ©D0lTE’ grifore EPothHTBS (Bob KoSE)TeD edir
Sosored® 8808 e eFBdirmraho ®8 Bvest, 2011-12 (38) & aEdssm

Year Gross national income
(Lakh crore rupees approximately)
RodEBdo é:tr_;@ e RGSrTPahHOo
(ofe 8% srirches? Hirthr)
a) 2019-20 {2”" Revised Estimate) 1) 154.60
2019-20 ( Botis) H:60dd woilar)
b) 2020-21 (1% Revised Estimate ) 1) 145.00
2020-21 ( &8 {¥56008 wodar)
c) 2021-22 (Provisional Estimate) Iy 143.70
2021-22 (zre8 o)
d) 2022-23 ('IE”t Advance Estimate) V) 133.70
2022-23 (066 snotidh o)
Options:
ST N A
Options :
| % a-l bl cli d-IV
5 ¥ a-ll b-1v el d- 1
3 % a-1l  b-1 ¢V d- [l
4 % a-Iv b1l c-l d- 1l

Question Number : 137 Question Id : 51714413379 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No



Correct Marks : 2 Wrong Marks : 0

Match the following items in List-l with List-lI:
E@ 165 oo SJ@ 11 859 wozre8d eedschsn

List -1 List-lI
O -l 0% -l
a &
a) Lorenz curve I) Measures absolute dispersion
&Bo Ty 59 (984 (dispersion) Sesmso
b) Standard deviation II) Positional measure
[arsirdE Hdedo rEd Seosiedo ( Positional measure)
c) Range ll) Satisfies time reversal test
8 s008%5 ( time reversal ) 5655 SoH)h K50
d) Geometric mean IV) Graphic method
(@B Dt g Hbo B8
Options:
PNy
Options :

a-1Iv b-1 ¢l d-1l
1.9

all b-lll ¢l d-1IV
2. %

a-IV b-1lll c-ll d-1I

a-1v b-1ll ¢l d-1l
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Match the following List-l with List-1l:
Bob 9§ -1 6% oo og-ll &%) wowes® ashtdhin

List
Dg -l

a) Thomas Bayes
oo Dond

ListI
9§ -l

I) Foundations of probability
Fonns @D Lé"l‘ﬁeaanﬁ}eﬁ

b) A.De. Moivre I} Concept of inverse probability
2.8. 3208 SRR B9 30N DFamdd
c) B. Pascal 1) First to describe normal distribution as the limiting form
of the binomial model.
D F56 g Hobd Gn) HOME Srmere

d) AN. Kolmogorpv
.08, SEHRES

Berdnadd Sirarid $0odS Fndd 8

[V) First to develop a theory of Combinations
¥oone ?om;o@*&‘& @EJB’JQ% 295 Fwsd éﬁ

Options:
FRTGERTED
Options :
a-Iv.  b-1  cll d-ll
®
5 % a- | b-11  c-lll  d-1V
a- I b-1ll eIV d-1
3.¢
a-lll b-1V cl1 d-ll
4, ®
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Match the folﬂlc}wing List-l  with List-lI
Bob BF -1 6% wowei DF-I % woTes® assHin

List-I List-lI
D5 -l 25 -
[-%] 4]
a) William Gosset l) Rediscovered normal distribution
DOHED RS FEFSy HoDAD BOR BERFTD
b) Carl F.Gauss Il) The Chi square test was first used
5. o, R 3 Wb G655 Fnhant tHSrRoTd
c¢) Karl Pearson 1) The term regression was first used
520 H096 ¥e [B8KR0 (regression)soed) FnkEntd eHa@rRomTd
d) Francis Galton V) t-test
PR TPOS t-:568
Options:
PEmETeD
Options:

a-lll b-1 cll d-1V

1. %

, % @IV bl cdil di
a-1l b-1ll eIV d-1

4. & a-1vV b-1 -l d-1l
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Match the following List-l items with List-ll items:
8oB ] -l 850 woTedH ol 6% wowes’ adhshin

List-I
3 -l
L]

a) Diagonal matrix
EaDf)d HrEs

b) Identity Matrix
0GoHE Sr@s

c) Scalar Matrix

List-Il
05 -l
(8]
I) A square matrix in which elements in the diagonal
are all 1 and rest are zero

20 af SHEDHEHEE. OIS KafSE’ aDot]) o)
1 e 6506 SAeed of)) Erdsore ( zero) Gobro.

I1) Amatrix in which all its elements are zero
& SP@5% o) 0ot Erikgo( Zeroyr todran.

) A square matrix in which all its non-diagonal
elements are zero

Wb e 20 a8 SHBE Sr@s. B08° ef) T8 Kby 0ol Eriso
( Zero) e odron.
d) Null matrix IV) A diagonal matrix in which all its diagonal elements are equal
Sl =6 a8 Eari)S SrBs nod Karé Doty ©d) Sirdorr
ot om.
Options:
B AR )
Options :
: a-lll b-IV cl1 d-ll
a-ll b-1 ciV d-ll
2. ¢
a-l b-1ll clIV d-I
3. %
4 % & IV b-1 el d-11
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Match the following years with percentage of general government health expenditure
in GDP
(Bod Hodeoreih ”’m@m é%cﬂjﬂéﬂj@ ( GDP) & argrties (B30 @55:“3&3 spdio

FHE08! 2805050

Year (General government health expenditure
as % of GDP
KoB) B0 GDPE® o (5808 w8 Hgabo (FE0)
a) 2019-20 1) 1.3
b) 2020-21 1) 1.4
c¢) 2015-16 ) 2.1
d) 2022-23 (Budget Estimates) V) 1.6
2022-23 ( 2G5 woiizren)
Options:
HRPGPEReD
Options :

a-ll b-IV ¢l d- Il

1.¢

a-il b-Il oIV dI
2. %

a-l b-l cll a1V
3. %
4% alV bl ol dll
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Match the following years with direct tax revenue collected (Rs in lakh crores) in
each year in India

Bob Do reih edir ﬁ-oéé@,@@éﬁ EoetTnt (e ta EesE e oo Sirds vak
(ofe 8% Srardhen)d® a8sthEn

Year Revenue collected through direct taxes (Rs in lakh crores)
RoHE B B8 Dine ouoe S8 vald (ofe 8 Srarabes?)
a) 2018-19 1) 9.45
b) 2019-20 i) 11.38
c) 2020-21 ) 14.10
d) 2021-22 V) 10.50
Options:
PSR ED
Options :
a- | b-1V c-ll  d-1
1. %
a- Il b-11 ¢V d-1
2. %
a- I b-1vV ¢l d-1l
3. ¢
a- v b-1  c-lll d-1l
4. %

Question Number : 143 Question Id : 51714413385 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Match the following places with year in which the ministerial conferences of WTO were held:
8o FEeeh WT0 oo TR DiraTen wbhS dosEres eEkshin

Place Year
[ddo Rodé o
a) Nairobi [) 1999
36°
b) Bali 1) 2001
)]
c) Seattle ) 2013
fairdes
d) Doha IV) 2015
B
Options:
SeimgEaren
Options :

a-1 b-IVcil d-lll

1. %

a-ll b-1l ¢l d-1Iv
2. ®

a-1l b-1V cll d-1
3. %

a-Iv b-lll cl1 d-l
4. &
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Match the following services trade of India (exports and imports) with its
value in July 2022/2023:
2= 2022 /20238 ZrEERE Do S (DODHS HOAW BIHNS) T8 DD

addnatithaim
Export/import Value (in US billion dollars approximately)
IS&/BIDHE Dend( HDAHS Dbz mrobodd HErHmr)
a) Services exports in July 2022 1) 24
=8 2022 & Dide b
b) Services imports in July 2022 1) 27
28 2022 &° Do HroHEm
¢) Services exports in July 2023 [y 15
28 2023 &° Do JhHEen
d) services imports in July 2023 V) 14
=8 2023 &° D Brbgaen
Options:
NePLERRED
Options :

a-1 b-IV clll d-1

1. %

a-1 b-IV cll d-lll
2. &

a-ll b-IV clll d-1
3. %

4 % alv b-lll c d-
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Match the following Sustainable Development Goals with goal numbers:
1Bod FJ}EJ@U“&%%} oo ad ofo ﬁoeuﬂg%ﬁ a2t thain

SDG goal name Goal number
K}J%Gﬂﬁjaﬁe)g eFo Aoy, eFo Hogy
a) Reduced inequalities 15
ehardee é?:j:of@
b) Responsible consumption and production Iy 10
ertitEraing DA@ro Hbdin eEd
c) Affordable and Clean energy ") 12
wohartnd® tod (Affordable) Hoakn B9y mogso
d) Life on Land V)7
2o s @& ( Life on Land)
Options:
FSTRGPEIReN
Options :
a-Il b-1l clV d-1
1.¢
a- | b-1IvV cll d-1ll
2. %
3 % a-Il  b-1 c-lll d- 1V
a-1vV  b-ll ¢l d-ll
4, %
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Match the following economists with book they authored:
Bob Slel oD TH 50008 (Kogod® asssHin

Name of Economist Name of book
«Bs 38 2 oo DB
a) Michael Todaro ) Problems of Capital Formation in Under Developed Countries
DI s @E‘J‘”ﬂ}@ég% deedt Smesd Soddhdo GnE) deidgen

b) Gurley J.G and E.S.Shaw II) Economic Development in the Third World

K3.2.2 Hbcfn a.a98.ar et (Gotod’ wdsdHd
¢) Ragnar Nurkse ) Money, Interest and Prices

5B &) k0, 56 BB e
d) Don Patinkin IV) Money in a Theory of Finance

w0 arfio 81 a8 D8 drrodos’ (o

- 0
Options:
B ALY
Options :

all b-Ill clv d-|

1. %
a-l b-IV cll d-li
2. %
3 ¢ a-Il b-1IvV ¢l d-ll
av bl el dli
4.
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Match the following List-1 with List -1I:
Bod E%-Iéﬁéﬁ ®OT°D E}E—Iléﬁﬁ woTe&" wEHEHED

List-l - Name List-1l: Concept they popularised
051 - B 0] -l 7555 (@riHEed®s 8dyob
a) Schumpeter 1) Indivisibilities
Zpoheb wdgregBen
b) Hirschman I1) Knife edge equilibrium
é—DEﬂEﬁJE ) 5:@ RenE g0
c) R. Rodan Ill) Circular flow
wb. 88 S8cs (Harsro
d) Harrod I'V) Linkage effects
ol eihool |PHeraren
Options:
PRI
Options :

a-ll  b-ll clIV d-I

1. %

a-lll b-1 cll d-IV
2. %

all b-IVecl dli
3. %
4\;",a—lil b-IV cl d-ll
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Match the following List-I with List-l|
Bod DY 6% woeid DRI 6% wowes® st

List-I List-lI
5l 05 -l
£ £l
a) Rosen I) Stated Self Control as Preventive check of Population
Blad BT aartis zﬁtﬁg)m éﬁ:ﬁm Rdho|Ees HBoi) DHBoTH
b) J.V. Krutilla [I) Option Value concept introduced first
2.0. §fer s Dend S0 Tsbre (HaY 2EH
¢) Weisbrod lIl) Theory of Hedonic prices
Fowd (a6 w@Ed ( Hedonic) e R)mgoeﬁo
d) Malthus Thomas I\V) Existence value concept introduced first
W) éov%'ﬁ_a aggﬁg Dend e Folire {;’33%’3&@5&
Options:
FISATET RTR D
Options :

a-ll b-1l cIV d- |
1. &

a-lll b-1IvV cll d-1|
2. ¢

3 % a-ll b-1IvV clll d-1

a-\ll b-1Iv cl d-ll
4, ®
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Match the following countries with their place based on % of FDI equity inflow
(out of total FDI inflow) from each country into India in the financial year 2021-22
2021-22 6B HosE)Bod’ gruEtEos™ SIS Fndo B4 [HEE inald (Harsro (FDI equity

inflow) &° Bob Eayis) G0 o egrborr & DoeD Wﬁ.ﬂ;éﬁoéﬁ 2285558

C?untry name Place
g0 2 xR0
ajUSA 1) Third
@ahbse AT
b) Mauritius ) Fourth
vlons enlD
c¢) Netherland 1) Fifth
Asbergol 0th
d) Switzerland I\VV) Second
3:5%5@'305 Bo
Options:
FeRGERRED
Options :
a-Iv  b-1  cll d-1l
1.4
a-ll b-1vV cll d-I
2.
3 % a- |l b-1v  clll d-|
a-IvV  b-Ill ¢l d-ll
4, ®
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Match the following List-1 with List-lI:
1Bob E%—iéﬁm woToH -6 worres® adHsHsn

List-l List-ll

05|

a) Securities Contracts (Regulation) Act
2ErBdR sroler ) BrgDNS) airb
b) Enactment of SEBI Act
e TD( enactment) Sow%)so

c) Equity denvatives were introduced in Indian
stock market in the year
aB8yE SroE® S8 BEIBY) HHTHES Koo

d) CNX Nifty base year
hcﬁnﬁdﬁ:ﬁg E’J% uprd oo

Options:
RamGEaReD
Options :
a1l b-1 c-Iv  d- 1l
1. %
5 % a-lll b-1Iv cll  d-1
3 @ a-ll b-IvV cl d-1l
a-IvV  b-l ¢l d-l

4, %

o%-ll
=]

1) 2000

Iy 1995

1) 1956

V) 1992



